e 43

2017 12
= =< n
Ussm oo
710043
. . H,0 H' H, OH
1. 2016 ib
12 “ 7 2. OH  CI° Lc Fe
. 2013 [ 28.2015 Fe’; a-c d.b
m 26 . .
( “ ”
N N cd o
> ) cd c-d
1 (2016
12 ) 1 . h
tab a-d 2 1 /m /nl
S pHIAL o 1
b mn AL AN/
o 1 . ARk
o . m 2
ta~d :2H, 0 +2e” :Cu—2e” Cu®":
20H +2H, T ;¢ i Fe-2e” Fe*: b n 2H +2¢"=—=H, 1 .Cu”" +2e"=—=Cu(
1 2H,0-4e” 0, T +4H" 2CI - Cu™ ).
2e” Cl, 1. s
ad 2 (2013 . 11 )
CH, CH,
> @—C=C—COOH QC—CCOOH
CH, CH,
CH,
HOOC—Q—CECH 0
CH, .
CH, ( )
- = « )
H—C=C—_ )—COOH
CH, .

( :2017-10-28)



« 44 .
Al
. ST AR
NO; 3. L - N
L -
(1 S o Y i :
( :(A’) «B”) ____I-EO___ : _3_ I\E-—
(2) 3
2 mol
(Am -Am ) go
(1) A 2NO, +6H,0+10e” ==N, +
120H"  2NO;+12H"+10e” N,+6H,0
(2) 144
(1) NO;
N, : 2NO,; + 10e” +6H, O
==N, T +120H"  2NO, +12H" + 10e" ==N, +
6H,0
2H,0-4e” 0, 1 +4H"
A 1 (2) 2 mol
0.2 mol N, 5.6 ¢ 0.5
mol O, 16 g 2 mol H' H*
156 g-2g=36¢
116 g+2 g=18 ¢ 14.
4 g
113 (Am _
Am )7 “Am -
Am 7 N
Am Am “Am -Am 7
29

(2012

__ &

12

2017
4 cosNERERE
1H2
(N NaCLiHl j—- = =
s o Y P e
Chi-=--m— =~
NaCl. JRZ - -
I L
(2) St R
4
G 13.441(
_ )
(Am -Am )
((1)2C1 —2e"==Cl, 1
CO( NH,) ,+3Cl,+H,0 ==N,+CO0,+6HCI
(2) 17.2 9.36.
3 (2017 . 16 )
Na,CO, 5 .
2 A
M
- — e
A e _T C_ ot
|—H_ HTY
- BH B3 ol
4COT +2H,0- 5
4e"==4HCO0;+0, T H,
H,0
OH" 0, H,0
H" H coT HCO;
1 4COT +2H,0-4de” 4HCO;
+0, 7. H,0 H' H,
H,0 OH"
Na* NaOH o



2017 12

(2015 . 5 )
Cl H:
K —
. . ‘IE_T_Na_*_-NaTE!
. (=% -on-
6 A" e Y
6
(1)
(2) .
(3) o
o | “a” .
“b” . Mc” “d”)

(4) S
(1)

2C1"+2H,0 ==Cl, 1 +H, 1 +20H"

(2) OH" Cl,
2NaOH+Cl,—=NaCl+NaClO+H,0
cl, H, .
(3)a d-
(4) :2H,0+2e” 20H"
+H, 1 OH~ Na*
NaOH d o
4 (2015 . I 26 )
“MnO,.ZnCl, NH,CI
MnOOH.,
(1) S
(2) 0.5A 5 min
g | F=96500 C/mol)
:(1) MnO,+H" +e” MnOOH 2MnO, +
Zn+2H'=—=2MnOOH+Zn*"( : In*"
Zn(NH,) 3" H* NH;)
(2)0.05,
(1) MnO, H*

MnOOH /n—

e 45

——7n®" :
2Mn0, +Zn+2H ==2MnOOH+Zn"
(2) 0=It=0.5 Ax300 s=150 C Zn

2e

m( Zn) = %XM( Zn) +2

B 150C
96500C * mol ™
=0.05 g

X65 g * mol ™' +2

DQ=h=n(e) F

QW=Ult=UQ

F 96500 (
96500C) .

(2013 . I 28 )

( CH,0CH,)

(5.93 kW * h/kg) .

1 kW » h=3.6x10°J)
. CH, OCH, - 12¢” + 3H, 0 ==2CO0, +

12H" 12;
1000
1.20Vx-———5—x12x96500 C * mol "
46 g * mol
= (3.
1 kg
6x10°] + (kW *h) "' ~839 kW «h * kg™
( :2017-10-10)



